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Instructions

+J T Ay ﬁwgpﬁr;ﬂnsms ﬂf sections A and B.

r :{I quesimns in section A and four (4) questions from section B. l

1l necessar f__-.-;wm:lﬂgg;and' answers for each question done must be shown
' 'I'.,- -II_‘
M :". T;ti-.r' tﬁbles ‘may be used unless otherwise stated.

'l

M&ﬁm and cellular phones are not allowed in the

‘I
EXi .'.h' ':.-':

dvised to spend not more than two (2) hours on section A and B
g fm __}amsecﬁanﬁ* , ‘
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3.

6.

7.
8.

(b}

{a)

(b)

(a)

(a)

-
' ' . ol a right angled-
[he point A (3. -7) is the vertex of the rl;;_,ht ;r.tgﬂtl.;ii; 1{}%,\ g
triangle whose hypotenuse lies along the In.u:_ X wﬂ;.{ e
x of ' IS 3). Fi « pemaining REG
vertex of the triangle is B (0.-3). Find the rems g

a right-:mglcd isosceles

he triangle and hence 1S

A circle of radius 10 units is L:i!'L'lll‘.I‘I.SL‘.l'IhL'(l btj' ;
triangle. Find the lengths of the sides ©

perimeter (all in 2 decimal places).
v = =3 cm
In the figure below DE is parallel to BC, AD=6cm, BD=5¢

DE = 4.cm. and ABC =90"

Calculate: (i) the length of BC
{ii) the ratio —:{— (6 marks)

o ]
wl
The surface area of a sphere, V¥ mm- varies directly as the square of its
diameter ¢ mm. If the surface area is to be doubled, what ratio must the
diameter be altered?
i O . iy
If a (1—J e write x as a subject of the formula
n h
(6 marks)
I 5 : : :
Expmss!; : 3 asintegers in a simplified form.
The sides afn rectangle are in the ratio 3:5. [f the perimeter of this
rectangle is 800 ¢m: find the dimensions of the rectangle.
(6 marks)

@
If the third term of a geometric progression is 100 and the sixth term is
800. find the fifth term and the sum of the first two terms.
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Find more free educatio,lial resources at http://maktaba.tetea.org




annual sales
find the total

; :-" (6 marks)

2 find the value of tan .
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m#ﬂﬁ far 40

Carefully study the frequency distribution table which shows

students in History examination.

- Bl = A — 100
Marks 1=20 |21 -d0_[Ai-60 [6I -0 8L
Number of students 3 11 12 ——
Determine
(i)  The mean, given the assumed mean is 50. 5
(ii)  The median
(i)  Modal class and its corresponding class mark. 0By

13.  The figure below shows a rectangular prism in which AB = 16 cm, BC = 12cm

andﬁ=5cm.

A 16 cm
) nsmtafsuﬁaacarea

the angel between PB and the plane ABCD
the volume in litres the prism can hold (1 litre = 1000 ¢m ) (10 marks)

Mféjlgm?ginﬁummngn relates to Mr. Kazimoto, a trader, as at 30" July

Sales "x ; shs. 340.000.00

‘?5% of salas

iﬂ% of sales
' 20% of cost of goods sold

(10 marks)
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a..ﬁi ; ES m'ﬁf}fmlbﬁ Find where it will take the

ni
I

.. ’(T'., y‘) such that

- adﬂnthehnﬂ: y=x followed by a rotation through
1 'mﬁﬂ about the origin. Find the image of (2, 3) under

(10 marks)

A '-"'ﬁ?lll pass Maﬂxemalu.s is 0.3 und the probability

iﬂra 'ﬁli wﬂL pass ‘Mathematics” gnd B is the event “Ali will
=he 01 her or not A am;l B are md&pmdem events . [use
. ‘E-.f aﬂh Pﬂﬁ (b) above]
. (10 marks)
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